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is the explanatory use of the postpositive particle GAR, translated “For” plus the third person singular perfect passive indicative from the verb GRAPHW, which means “to write.”

The perfect tense is an intensive perfect, which conveys the present state resulting from a past-completed action.


The passive voice indicates that the Scriptures receive the action of being written.


The indicative mood is declarative for a simple statement of fact.

We now have a quote from Isa 54:1, but our verse is quoted word for word from the Septuagint (LXX). “‘Shout for joy, O barren one, you who have borne no child; break forth into joyful shouting and cry aloud, you who have not travailed; for the sons of the desolate one will be more numerous than the sons of the married woman,’ says the Lord.”
 is the second person singular aorist passive imperative from the verb EUPHRAINW, which means “be glad, enjoy oneself, or rejoice.”

The aorist tense is a constative aorist, which views the action in its entirety with no reference to its beginning, its end, its progress, or its result.  The action is simply stated as a fact.


The passive voice indicates that the subject receives the action of being glad, enjoying oneself, rejoicing.


The imperative mood is a command, which makes a direct positive demand upon the will of another.

is the vocative from the feminine singular noun STEIRA, which means “barren” and in the vocative we add the exclamation “O barren one” because it is talking about a person.

“For it stands written, ‘Rejoice, O barren one,”
  is the appositional vocative from the feminine singular article and second person feminine singular present active participle from the verb TIKTW, meaning “to bear, to give birth.”

The article is used as a relative pronoun (like HOS) and is translated “who.”

The present tense is a perfective present for the existing results of something, which has come into being in the past.  It is the result or state of being of the past action.


The active voice indicates that the barren woman produces the action.


The participle is circumstantial.


We also have the strong negative adverb OU, which is usually not found with the participle, and means “not.” The phrase is translated “who has not given birth.”
“who has not given birth.”
 is the second person singular aorist active imperative from the verb HRĒGNUMI, which means “tear or break loose, let loose, break out in, break forth.”

The aorist tense is a constative aorist, which views the action in its entirety with no reference to its beginning, its end, its progress, or its result.  The action is simply stated as a fact.


The active voice indicates that the barren woman is to produce the action.


The imperative mood is a command.

is the simple connective KAI, meaning “and” plus the second person singular aorist active imperative from the verb BOAW, which means “to call, shout, cry out.”

The aorist tense is a constative aorist, which views the action in its entirety with no reference to its beginning, its end, its progress, or its result.  The action is simply stated as a fact.


The active voice indicates that the barren woman is to produce the action.


The imperative mood is a command.

is the articular vocative feminine singular present active participle from the verb WDINW, which means “to suffer birth-pains” and with the strong negative adverb OUK, it means “to not suffer birth-pains.”

The article is used as relative pronoun (like HOS) and is translated “who.”

The present tense is a perfective present for the existing results of something, which has come into being in the past.  It is the result or state of being of the past action.


The active voice indicates that the barren woman produces the action.


The participle is circumstantial.

“Let loose and shout, you who have no birth-pains,”
is the causal use of the conjunction HOTI, meaning “because.”
 is the nominative subject from the neuter plural adjective POLUS, which means “many” plus the predicate nominative from the neuter plural article and noun TEKNON, which means “the children.”  Between the two stands the ellipsis where the verb EIMI should be inserted.  It is translated “many [are] the children.”
is the possessive genitive from the feminine singular article and adjective ERĒMOS, which is used as a substantive (noun), and when used:


a.  of a place it means abandoned, empty, desolate, Mt 14:13, 15; Mk 1:35, 45; 6:31f, 35; Lk 4:42; 9:12.

b. of persons it means,  desolate, deserted.

Here it should be translated “because many are the children of the desolate one” which refers to the barren woman.

 is the comparative of the adverb MALA, and means “to a greater degree; even more; rather.”  With this we have the disjunctive particle E, used as a subordinating conjunction in a comparative sense especially with MALLON.  It means “than.”
 is the possessive genitive from the feminine singular articular present active participle from the verb ECHW, meaning “the one who has.”

The present tense is a perfective present for the existing results of something, which has come into being in the past.  It is the result or state of being of the past action.


The active voice indicates that the child bearing woman produces the action.


The participle is circumstantial.

 is the accusative direct object from the masculine singular article and noun ANĒR, which means “the husband.”
 “because many are the children of the desolate one, even more than the one who has the husband.’”
Gal 4:27 corrected translation
“For it stands written, ‘Rejoice, O barren one, who has not given birth.  Let loose and shout, you who have no birth-pains, because many are the children of the desolate one, even more than the one who has the husband.’”
Explanation:
1.  Paul now uses the Greek translation of the Old Testament Scriptures against his Greek and Jewish opponents to prove his point.


a.  Notice that Paul didn’t quote the Hebrew Scriptures directly; for this might have offended the Gentile believers in Galatia to whom he is writing, who would not know the Hebrew and therefore, assume that Paul was just being arrogant by throwing his intellect around.


b.  Instead, Paul quotes directly from the LXX, the Greek translation of the Hebrew Old Testament Scriptures, so that his Greek believers in Galatians could check the verse for themselves from that translation.

c.  By quoting from the Old Testament to prove his point, this also throws off any counter argument by Paul’s Jewish opponents from Jerusalem; for he is using their own Scriptures against them, which they accepted as the only true standard of truth.  They have no counter argument.


d.  This does not imply that the LXX is Scripture, because there are many parts of the LXX that are completely and totally not Scripture, like the books of Maccabees.


e.  But this does show that God the Holy Spirit considered this verse in Isaiah to be a complete and accurate representation of God’s thought to man.

2.  Who is the Barren Woman?


a.  The barren woman here is the Church, the Bride of Christ.


b.  The Bride of Christ will never consummate the marriage on her wedding night, will never become pregnant, will never have birth-pains, and will never give birth.


c.  But the Bride of Christ, the Church, the Barren Woman and desolate one  will have many more spiritual children than the woman (the unbelieving Jew) who has a husband.

3.  Who is the Woman who has a Husband?


a.  Israel is the woman with a husband, and the husband is the Mosaic Law, having rejected Jesus Christ as her husband.  Israel had the potential for an intimate relationship with the Lord Jesus Christ, which could have produced a countless number of children of physical and spiritual descent.  But Israel rejected that relationship in favor of a totally physical relationship with the Mosaic Law.


b.  Israel had precious few Jews that were true Jews who had a personal spiritual relationship with their Lord and Savior Jesus Christ.

4.  Therefore, Paul’s point is this:


a.  There are millions of Jews, who by racial descent are related to Jesus Christ physically, but have no relationship to Him spiritually. 

b.  There will be many Church Age believers who have no racial descendent, but have a fantastic spiritual relationship with Christ.


c.  Therefore, a far greater happiness and rejoicing comes from the Church Age believer – the barren woman who has not given birth and who has not been in labor and appears to be desolate than comes from the racial Jew with nothing but their relationship to the Mosaic Law.


d.  Far more numerous are the spiritual children of those who believe in Christ and have a spiritual life with Him than those who do not believe and have no spiritual life.
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